Going wrong with bottom-up parsing

S->NP VP
NP -> DET N
VP -> |V
VP -> TV NP
TV -> plant
IV -> died
DET-> the
N -> plant

The plant died.

1) DET plant died

2) DETTVIV Fail
3) DETNIV OK
4) NP VP OK
5) S
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Lexical input of She

word -

PHON

SYNSEM

synsemL

<3he>

LOCAL

local -

CATEGORY

cat

CONTENT

ppro

CONTEXT

context

HEAD
noun

VALENCE

b val

INDEX

ref
'RESTR {}

BACKGR
ps

[CASE mmnI

SUBJ {ﬂ
COMPS ()
SPR (J
PER  3rd |
NUM  sing
GEND fem
RELN female
INST [1]

|

|
|
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STEP 3: c-structure
> Like the PS rules, each node in the tree is associated with a functional schemata

> With the functional schemata of the lexical entries at the leaves we obtain a

complete c-structure

S> NP VP < T T~

(TSUBD=4 T=¢ (TSUBD=4 =l
NP VP
S
_———__________ _-___-_"“—\—__\_____
(TSUBD= =L
NP VP
/.f'ﬁ\'\.\ _______—P"__-___-_'“—-______.
t=b 1=t t=i (tOBI=b
D N v NP
| Py
| (*PRED)= mouse fP]HL}: =l =l
(DEF=+  (*pErg)-3 “admire (TSUBT)(TOBIp * D N
the (TNUM= 5G (TTENSE}= PAST | g:PFIDF'elephmt
PERS 3
mouse admired (TDEF=+  myunep= 56
the elephant
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